
 
ननदेश- 

(i) सबी प्रश्न अननवामय है 

(ii) 1 से 5 तक वस्तुननष्ठ प्रश्न है। प्रत्मेक उऩ प्रश्न ऩय 01 अंक आवंटित है। 

(iii) 6 से 23 तक प्रत्मेक प्रश्न भे आंतरयक ववकल्ऩ टदमे गमे है। 

(iv) 6 से 15 तक प्रत्मेक प्रश्न के लरए 2 अंक आवंटित है। शब्द सीभा रगबग 30 
शब्द है। 

(v) 16 से 19 तक प्रत्मेक प्रश्न ऩय 3 अंक ननधायरयत है। शब्द सीभा रगबग 75 शब्द 
है। 

(vi) 20 से 23 तक प्रत्मेक प्रश्न के लरए 4 अंक ननधायरयत है। शब्द सीभा रगबग 120 
शब्द है। 

Instructions: 

(i) All questions are compulsory. 

(ii) 1 to 5 are objective type questions. Each sub 

(iii) Internal options are given in question Nos 6 to 23 each. 

(iv) 6 to 15 carry 2 marks each and answer should be given in about 30 
words. 



(v) 6 to 19 carry 3 marks each and answer should be given in 

(vi) 20 to 23 carry 4 marks each and answer should be given about 75 
words. in about 120 words. 

 

प्र. 1 - सही ववकल्ऩ चनुकय लरखिए। 

(i) बायत के ककस याज्म भें साऺयता का प्रनतशत सफसे अधधक है? 

(अ) गुजयात  

(फ) भहायाष्र 

(स) केयर 

(द) तलभरनाडू 

 

(ii) बायतीम जानत व्मवस्था भें ऩरयवतयन राने वारा कायक कौन-सा है? 

(अ) प्रजानत 

(फ) धभय  
(स) लशऺा 

(द) ऩरयवाय 

 

(iii) कौन सी जानत अन्म वऩछड ेवगय के अन्तगयत आती है। 

(अ) कामस्थ 

(फ) साहू  

(स) जाि 

(द) बलूभहय 

 

(iv) बभूण्डरीकयण की दशा भें ववदेशी ऩूंजी के ननवेश को देश भें प्रोत्साहन देने की 
नीनत को कहा जाता है- 



(अ) औद्मोधगक 

(फ) ननजीकयण 

(स) ऩूंजीवाद 

(द) उदायीकयण 

 

(v) कौन सी दशा उदायीकयण की सभीऩता को दशायती है- 

(अ) सभाजवादी व्मवस्था 

(स) रोगों के दृष्ष्िकोण भें उदायता 

(फ) उद्मोगों का आधनुनकयण 

(द) लभधित अथयव्मवस्था 

 

(vi) तेरंगाना आंदोरन का उद्देश्म क्मा था? 

(अ) जागीयदायों के शोषण का ववयोध  

(फ) रगान भापी की भांग 
(स) ग्राभीण फेयोजगायी का ववयोध 

(द) फंधआु भजदयूी का ववयोध 

 

Q.1. Write by choosing the correct option. (1) In which state in India has 
the highest percentage of literacy. 

(a) Maharashtra. 

(b) Gujrat 

(c) Kerala 

(d) Tamilnadu 

 

(ii) What is the factor that broad changed in Indian caste system.  



(a) species 

(b) Religion 

(c) Education 

(d) Family 

 

(iii) Which caste under the OBC (other backward caste) 

(a) Kayastha 

(b) Sahu 

(c) Jaat 

(d) Bhumihar 

 

(iv) What is the policy of promoting foreign capital investment the 
condition of globalization. 

(a) Industrialization 
(b) Privatization 

(c) Capitalism 

(d) Liberalization 

 

(v) Which condition reflects the review of Liberalization. 

(a) Socialist system  

(b) Modernization of Industries 

(c) Open Mindedness 

(d) Mixed economy 

 

(vi) What was the objective of Telangana movement 



(a) Opposition to the exploitation of the JJagirdar  

(b) Demand for forgiveness of rent 

(c) Protest against rural unemployment.  

(d) Opposition to bonded labour 

 

प्र. 2. रयक्त स्थानों की ऩनूतय कीष्जए, 

(i) संमकु्त ऩरयवाय के भखुिमा को ........... कहा जाता है।  

(ii) बायत भें सफसे अधधक जनसंख्मा वारा प्रदेश .............. 

(iii) गांव भें ववलबन्न फष्स्तमों के ननभायण का भखु्म आधाय ........... 

(iv) बायत भें याष्रीम फीज ननगभ की स्थाऩना सन ........... भें की गई। 

(v) टदहाडी भजदयूों को काभ ऩय रगाने का कामय साधायण तथा ............. 

(vi) फोंडो औय भीजों आंदोरन का संफंध बायत के ...........  

(vii) सोशर भवूभेंि इन इंडडमा ऩसु्तक के रेिक का नाभ ................ है। 

 
Q.2. Fill in the blank - 

(i) The head of joint family is called .................. 

(vii) The name of the author of the book social ................. .movement in 
India 

 

प्र. 3- ननम्न भें से सही जोडी फनाईमे. 

 (अ)       (फ) 

(i) इयावती कयवे     याजा याभ भोहन याम 

(ii) सभाज सधुाय के जनक   साभदुानमकता की बावना 

(iii) सांस्कृनतक ऩहचान   हरयत क्ांनत 

(iv) कृषक रयनंग्रस्तता भें वदृ्धध  सावयजननक उद्मोगों सयकायी 



(v) ववननववशसे    धचऩको आंदोरन 

(vi) गौयादेवी     ककनलशऩ आगेनाइजेशन इन इंडडमा 

 

Q.3. Match the following correctly: 

 (A)       (B) 

(i) Iravati Karve    Raja Ram Mohan Rai 

(ii) Father of social reform  Green Revolution 

(iii) Cultural Identity   Sense of community 

(iv) Krishak rin grasttha me vriddhi withdrawal of government capital from 

(v) Disinvestment    Chipko Movement 

(vi) Goura Devi    Kinship organization in India 

 

प्र. 4- ननम्नननखित प्रश्नों का एक वाक्म भें उत्तय दष्जए। 

(i) येडपील्ड ने ग्राभीण सभदुाम को ककस नाभ से संफोधधत ककमा है? 
(ii) प्रब ुजानत की अवधायणा ककसने प्रस्तुत की हैं। 

(iii) बायत भें आऩातकार की घोषाणा ककन वषों भें की गमी थी 

(iv) बायत की संस्कृनत भें फहुत से भहत्वऩणूय त्मौहाय ककस अवसय ऩय भनामे जाते हैं? 

(v) ष्जस सभाज भें एक फडी संख्मा भें रोग उद्मोगों द्वाया आजीववका प्राप्त कयते हैं। 
ककस तयह का सभाज कहा जाता है? 

(vi) बायत भें उदायीकयण की प्रकक्मा ककस वषय से आयम्ब हुई? 

(vii) अंतयायष्रीम िभ संगठन की स्थाऩना ककस वषय भें हुई? 

 

Q.4. Answer the following in one sentence. 

(i) By what name has Red filed addressed the rural community? 

(ii) Who introduced the concept of dominate caste? 



(iii) In Which year emergency was declared in India? 

(iv) Many important festival in culture of India are celebrated on which 
occasion? 

(v) The society in which a large number of people get their livelihood 
through industries is called what type of society? 

(vi) In which year the process of liberalization started in India? 

(vii) In which year was the international labour organization established? 

 

प्र. 5- सत्म/असत्म लरखिए  

(i) बायत भें जन्भदय की तुरना भें भतृ्म ुदय अधधक हैं?  

(ii) साभाष्जक ववषभता का फंद स्तयीकयण से घननष्ठ संफंध है? 

(iii) नागरयक सभाज की प्रकृनत गैय-याजनीनतक होती है? 

(iv) स्वतंत्रता के फाद बायत भें लभधित अथयव्मवस्था को अऩानामा गमा? 

(v) उदायीकयण के परस्वरूऩ बायत के अंतयायष्रीम व्माऩाय भें वदृ्धध हुई? 
(vi) गंगा के प्रदषूण को योकने से संफंधधत कामयक्भ नभालभ गंगे है। 

 

Q. 5. Write True, False:- 

(i) Death rate is more than Birth rate in India? 

(ii) Social inequality is closely related to closed stratification? 

(iii) Civil society is non-political in nature? 

(iv) Mixed economy was adopted in India after independence? 

(v) India's international trade increased as a result of liberalization? 

(vi) The name of the program related to preventing pollution of Ganga is 
Namami 

 



प्र. 6 जनांकककी का क्मा अथय है? 

What does demographics mean? 

अथवा / OR 

जनसंख्मा ववस्पोि का क्मा अथय है ? 

What does population explosion mean? 

 

प्र. 7 प्रनतस्थाऩन स्तय ककसे कहते हैं? 

What is replacement level? 

अथवा / OR 

नसैधगयक अवयोध से आऩ क्मा सभझते है? 

What do you understand by natural barrier? 

 

प्र. 8 जानत को ऩरयबावषत कीष्जए? 

Define caste? 
अथवा / OR 

प्रजानत का क्मा अथय है? 

Define species? 

 

प्र. 9 ऩवूायग्रह से आऩ क्मा सभझते हैं? 

What do you understand by prejudice? 

अथवा / OR 

अन्मथा सऺभ शब्द का क्मा अलबप्राम है? 

Otherwise what is the meaning of the word capable? 

 

प्र.10 नागरयक सभाज क्मा है ? 



What is civil society? 

अथवा / OR 

ऺेत्रवाद से क्मा तात्ऩमय हैं, लरखिए? 

Write, What do you mean by regionalism? 

 

प्र. 11 बायत को एक धभय ननयऩेऺ याष्र क्मों कहा जाता है? 

Why is India called a secular nation? 

अथवा / OR 

सभावेशी याष्र का क्मा आशम हैं लरखिए? 

Write What is the meant by inclusive Nation? 

 

प्र.12 संयचनात्भक ऩरयवतयन का क्मा अथय है? 

What is meant by structural change? 

अथवा / OR 
औद्मोगीकयण शब्द का क्मा तात्ऩमय हैं? 

What is the meaning of the term industrialization? 

 

प्र. 13 ववननवेश से क्मा तात्ऩमय हैं? 

Write, what do you meaning by disinvestment? 

अथवा / OR 

हडतार तथा ताराफंद भें क्मा अन्तय है? 

What is the difference between strike and lockout? 

 

प्र. 14 लभधित अथयव्मवस्था की ऩरयबाषा लरखिए? 

Write the definition of mixed economy? 



अथवा / OR 

बायत भें उदायीकयण के भखु्म दो उद्देश्म लरखिए? 

Write the main two objectives of liberalization in India? 

 

प्र.15 संस्कृनतकयण का क्मा अथय हैं? 

What do you mean by sanskritization? 

अथवा / OR 

सभाज सधुाय आंदोरन का क्मा अथय है ? 

What is the meaning of social reform movement? 

 

प्र.16 बायत भें जनसंख्मा वदृ्धध के 3 कायण लरखिए? 

Write three reasons for population growth in India? 

अथवा / OR 

बायत भें जनांकककी से संफंधधत कोई 3 ववशषेताएं लरखिए? 
Write any three features related to demography in India? 

 

प्र.17 सात्भीकयण तथा एकीकयण की नीनत भें अंतय स्ऩष्ि कीष्जए? 

Explain the difference between concretization and integration? 

अथवा / OR 

धभय ननयऩेऺता के प्रभिु आधाय लरखिए 

Write the main bases of secularism? 

 

प्र.18 औद्मोगीकयण एवं नगयीकयण भें 3 अंतय लरखिए? 

Write three differences between industrialization and urbanization?  

अथवा / OR 



भध्मकार को अंधमगु क्मों कहा जाता है? 

Why is the medieval period called the dark ages?  

 

प्र.19 नगयीकयण की 3 सभस्माएं लरखिए। 

Write three problems of urbanization? 

अथवा / OR 

ब्रह्भसभाज द्वाया ष्जन कुयीनतमों का ववयोध ककमा गमा ववस्ताय भें लरखिए? 

Write in brief the evils opposed by the Braham Samaj? 

 

प्र. 20 ऩरयवाय साभाष्जक संयचना की धयुी है. इस कथन को स्ऩष्ि कीष्जए? 

Explain the statement that family is the spindle social structure? 

अथवा / OR 

ऩरयवाय की ववशषेताएं लरखिए ? 

Write the characteristics of family? 
 

प्र. 21 साभाष्जक स्तयीकयण की ववशषेताएं लरखिए (कोई 4) 

Write the features of social stratification (any four)? 

अथवा / OR 

अन्म वऩछड ेवगय की सभस्माएं लरखिए कोई 4 

Write the problems of other backward classes (any four)? 

 

प्र. 22 बलूभ सधुाय के कोई 4 उद्देश्म लरखिए? 

Write any four objectives of land reform? 

अथवा / OR 

बायत भें हरयत क्ाष्न्त के कायण कौन सी नई सभस्माएं उत्ऩन्न हुई लरखिए (कोई 4) 



Write what new problems arose due to the green revolution in India (any 
four) 

 

प्र. 23 नभयदा आंदोरन ऩय टिप्ऩणी कीष्जए? 

Write a note on Narmada Movement? 

अथवा / OR 

भटहरा आंदोरन के भखु्म भदु्दे लरखिए (कोई 4) 

Write the main issues of women's movement (any four)? 


